FRACTION PROBLEMS

1.  An irregular plot of land measures 
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 mile by 
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 of a mile by 
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 of a mile by 
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 of a mile.  How far is it around the plot?

2.  A tailor made a pant-suit using 
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 yards of material.  How much would he need to make 15 pant-suits?

3.  The restaurant needs 
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 cases of napkins to last one month.  There are 
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 cases in the storage room, how many more cases are needed for this month?

4.  John has 
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 tons of gravel for driveway base and each driveway requires 
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 of a ton.  How many driveways can he handle?

5.  A rectangular plot that the government wants to set aside for protection measures 
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 miles by 
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 miles.  What is the area enclosed?

6.  A hydraulic system contains 
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 gallon of fluid.  A cracked seal results in the loss of 
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 of a gallon on Monday and 
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 of a gallon on Tuesday.  How much fluid is left in the system on Wednesday morning?

7.  An insect spray calls for 
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 ounces of chemical for each gallon of water.  How many ounces are needed for 
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 gallons of water?

8.  A water tank contains 35 gallons of water when it is 
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 full.  How much will the tank hold?

9.  A national feed supply store sold 
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 tons of corn, 
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 tons of oats, and 
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23

 tons of wheat.  How much did they sell all together?

10.  Jaime studied a total of 
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 hours over the weekend.  If he studied 
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 on Saturday, how many hours did he study on Sunday?

11.  Tom and Corrine ordered 30 packets of pansy seeds that each weigh 
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 ounces and 40 packets of begonia seeds that each weigh 
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 ounces.  What’s the total weight of their order?
12.  The owners of an apartment complex are remodeling and have found that each apartment requires 
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 yards of carpet.  The owners bought 6,750 yards because of a "large-purchase discount"; how many units can they carpet with their purchase?

_1041158386.unknown

_1041158824.unknown

_1041159054.unknown

_1041159158.unknown

_1041159374.unknown

_1041159477.unknown

_1041159345.unknown

_1041159127.unknown

_1041158998.unknown

_1041159034.unknown

_1041158877.unknown

_1041158623.unknown

_1041158676.unknown

_1041158768.unknown

_1041158653.unknown

_1041158537.unknown

_1041158555.unknown

_1041158429.unknown

_1041157985.unknown

_1041158164.unknown

_1041158236.unknown

_1041158066.unknown

_1041157889.unknown

_1041157972.unknown

_1041157822.unknown

